
Wed-  Math 

Q1. Tick the correct answer. 

1. Which of the following expression does not involve a variable? 

a. 2x+3    b. 5x+4      c. 5-7x   d. 7x20-5 

2. 3 added with the product of x and y is  

a. 3+xy    b. 3+x+y     c. 3+x-y    d. xy -3 

3. Sarita’s present age is x years then her age after 10 years will be  

a. (x-5) yrs 

b. (5x+5)yrs     

c. (x+10)yrs 

d. (x-10)yrs 

Q2.Match the following: 

Column I Column II 

a. X is subtracted form 4 

b. 2 is subtracted from the sum of x and y  

c. 6 is added to the product of x and y  

d. Qis added to (-5) 

e. Product of 2 and y is divided by 7 

f. M multiplied by 2 and subtracted from the 

product of7 and n 

i. 7x-2m 

ii. 2y/7 

iii. 4-x 

iv. Xy+6 

v. X+y-2 

vi. Q-5 
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